
LESSON 23

Money
MATHEMATICS 
READING

Directions: In this activity, you will read a passage. Then, you will answer 
questions about the passage. Fill in the circle next to the correct answer. 

 Terry’s Fruit Salad
Terry is making a fruit salad. He goes to the grocery store to buy the fruit he needs. He 
has $25.00 to spend. This is the cost of the fruit.

1. Which fruit has the greatest cost?

A Box of Strawberries

B Watermelon

C Blueberries

D Raspberries

2. Terry needs to buy two kiwis. Which equation represents this?

A 2 + 1 = 3

B 2 – 1 = 1 

C 2 × 1 = 2

D 2
1 = 1

Box of Stawberries $5.00

Box of Blueberries $3.00

Box of Raspberries $4.00

Kiwi $1.00

Watermelon $6.00
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3. Terry’s recipe calls for:

• One watermelon

• One box of strawberries

• One box of raspberries

• Two kiwis

• One box of blueberries

Does Terry have enough money to buy all of the fruit?

A Yes, he has more money than the total cost.

B Yes, he has the exact amount of money.

C No, he has less money than the total cost.

D No, he forgot his money at home.

4. One box of blueberries holds forty blueberries. Terry’s recipe calls for one 
half of that. How many blueberries does Terry need?

A Twenty

B Fifteen

C Eighty

D Forty
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Directions: In this activity, you will read a passage. Then, you will answer 
questions about the passage. Fill in the circle next to the correct answer. 

 Rick’s Lawn Care
Rick owns a lawn care business. He charges $10.00 to cut a lawn. The bar graph below 
shows the number of lawns Rick cuts each day.

5. If a new lawn mower costs $400.00, how many weeks must Rick save for?

A He can buy one this week!

B One week

C Two weeks

D Three weeks

6. Why should Rick try to book more customers for Wednesday?

A Wednesday is the middle of the week.

B He only mows one lawn Wednesday, and the more lawns he mows 
the more money he can make.

C He does not have any lawns to mow on Wednesday.

D He only mows two lawns on Wednesday.

0

10

20

30

40

50

Monday

D
ol

la
rs

 E
ar

ne
d

Number of Lawns Cut

Rick’s Lawn Business

Tuesday Wednesday Thursday Friday

READING: Mathematics 

92 • Level C • Student Edition masteryeducation.com Copying is prohibited.

G3_MeasuringUp_SE.indb   92G3_MeasuringUp_SE.indb   92 12/1/2022   8:28:46 AM12/1/2022   8:28:46 AM

SAMPLE




